Present Perfect Continuous Tense/ W@WW
The present perfect continuous tense is used for an action which began at some time in the
past and is still continuing.
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1.Structure:

Subject + has been/have been + main verb + ing + since/from/for + object.

Example:

Ol 1R U 4T FIGIG PAR- They have been doing this work for two days.

- Qﬁf‘{??“\fﬂ 1S AYR - You have been reading for two hours. (ﬁfﬁ\@m

- (RUEACT (O A QWWW— He has been living here from his boyhood.

- (Y T (TNTF 20O G GITOCR - Fahim has been suffering from fever since last
Monday.

Note - Subject third person singular number (he, she, it & IS, I8, G 1 Sﬂ%w
(TATCT has been L] | |, we, you, they % NNIAT plural subject 9 (*1TY have been IS

Note - J03%(Q since VIRRIL A WY point of time (past tense) A7 CHLA|
A= {1 919 99 (F0T since or from 2|

3] tense J9 (LA from TRIRE I |
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Period of time 49 5 Wef§ (FI NHE NI (Y ([RATS for FRIF =T

2.Negative Sentence: dIR<T3 Present Perfect Continuous Tense E< NI qIb<P RS (GRIGEE5}
[BERAIe]

Structure:

Subject + has /have+not+ been + main verb + ing + since/from/for + object.
Example:

(57 foF A= 4T fRATTETT SISICR AT -She has not been coming to school for three days.
WIFT S IS 4T WTI (YR - They have not been playing for 1 month in the field.

T 51® AR (AT AR T - Dipa has not been studying since last Sunday.




3.Positive Interrogative Sentence: IS Present Perfect Continuous Tense dJ XJT qIHPR
2PN 13 (141K [Fg [ =g

Structure:

has /have+ Subject + been + main verb + ing + since/from/for + object?

O fF 70T {1 330 AOR ? — Have you been reading the book for two hours?
o1 i 2 AN 44 Gd 9AR? — Has she been suffering from fever since two days?
(OTNHT fF 2 IRT YT JUTNR I FHAR?- Have you been living here for two years?

4.Negative Interrogative Sentence: <IRe Present Perfect Continuous Tense A NI JI6P
2PN 13 (TR (g (@

Structure:

has /have+ Subject +not + been + main verb + ing + since/from/for + object?
Example: SINAT B (ST OG5 foM 4T SR F4f8 WI2- Have we not been waiting for
you for three days?

I fF 2 IO 4T fFIHRE (YeT(R WI?2- Have they not been playing cricket for two hours?

(7 1< for 901 (< YAITER 1?7 — Has he not been sleeping for three hours?

5.Positive Wh-word Interrogative Sentence: qI<I¥ Present Perfect Continuous Tense <9 Wh-
word I3 € What( 3 ), Where ( CBTATT ),Why ( (FN),When (F4),Which ( (FTN(B ),How
(FSTTR) T I6F AN 193 (4R g VT8 =m |

Structure:

Wh-word+ has /have+ Subject + been + main verb + ing + since/from/for + object?
Example:

(OTNET R T70T T (FIATY BLEAR? -Where have you been going for two years?
N foN M= 4T3 5 IS FACR ? - What has Dipa been doing for three days?

ST (N S SIAZ 4TI FIGID PAR? — Why have they been doing the work for one week?

6.Negative Wh-word Interrogative Sentence: I« Present Perfect Continuous Tense & Wh-
word g7 =8 What(ﬁi), Where ( (BT ),Why ( CBN),When (F4N),Which ( @?W%),How
fFOI) 1 IHF ANRGF IHT (U [Fg TN =mg|

Structure:

Wh-word+ has /have+not + Subject + been + main verb + ing + since/from/for +
object?

Example:




SOIT (5 WM LTI FIGAO (1T FACR 12 — Why have they not been finishing the work for
one week?

s

O 2 M 40F (P EEUY AOR WI?-What book has not you been reading for two days?




